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Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Third Semester Main Examination, Dec-2020 

Agricultural Finance and Cooperation [AEC521] 

Time: 3:00 Hrs                                                                       Max Marks : 50 

Note : All 3 sections are compulsory.  

Student should not write anything on question paper 

 

Part-A  (Hkkx&v) 

This section contains objective type questions. Each question carry 1 marks.  

bl oxZ esa oLrqfu"B izdkj ds iz'u gSaA izR;sd iz'u dk ,d vad fu/kkZfjr gSA 

 

Q.1 Multiple choice Question / oLrqfu"B iz'u                 [1×10=10] 

 

(i)  The minimum support price are announced by- 
 U;wure leFkZu ewY; dh ?kks"k.kk dh tkrh gS& 

 (A) CACP / lh-,-lh-ih-   (B) Central Govt. / dsUnz ljdkj 

 (C) NITI Aayog / uhfr vk;ksx   (D) State Govt. / jkT; ljdkj 

 

(ii)  The nationalization of Banks has been done in which year -  
 cSadksa dk jk"Vªh;dj.k fdl o"kZ esa fd;k x;k &  

 (A) 19 April 1969 / 19 vizSy 1969  (B) 19 August 1969 / 19 vxLV 1969 (C) 19 July 1969 

/ 19 tqykbZ 1969   (D) 19 June 1969 / 19 twu 1969  

 

(iii)  The World Bank was founded in the year- 
 fo'o cSad dh LFkkiuk fdl o"kZ gqbZ Fkh& 

 (A) 1947  (B) 1948 (C) 1945  (D) 1946 

 

(iv)  The headquarter of International Monetary Fund (IMF) is located at- 
 varjkZ"Vªh; eqnzk dks"k dk eq[;ky; fLFkr gS& 

 (A) USA / ;w-,l-,-   (B) China / phu+ 

 (C)  Jeneva / ftusok   (D) Russia / :l  

 

(v)  The Balance Sheet is also known as- 
cSysal 'khV dks Hkh tkuk tkrk gS& 

 (A) Net worth / 'kq) vk;    (B) Financial Statement / foÙkh; fooj.k 

 (C) Both A & B / nksuksa A o B   (D) None of these / buesa ls dksbZ ugha 

 

(vi)  The headquarter of APEX Bank is located in Madhya Pradesh- 
visDl cSad dk eq[;ky; e/;izns'k esa fLFkr gS& 

 (A) Indore / bUnkSj    (B) Gwalior / Xokfy;j  

 (C) Bhopal / Hkksiky    (D) Jabalpur / tcyiqj 
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(vii)  The headquarters of Asian Development Bank is located at -  
,f'k;kbZ fodkl cSad dk eq[;ky; fLFkr gS &  

 (A) Rome / jkse    

(B) New Zeeland / U;wthyS.M  

 (C) India / Hkkjr     

 (D) Manila (Philippines)  / euhyk ¼fQyhihUl½ 

 

(viii)  An example of long term loan is -   
nh?kZ dkfyu _.k dk ,d mnkgj.k gS &  

 (A) Cattle / i'kq    (B) Sheep / HksM+   

 (C) Fertilizers / moZjd     (D) Tractor  / VªsDVj  

 

(ix)  Credit is given on the basis of pledge of movable properties as security is called-    
py lEifRr dks fxjoh j[kdj izkIr fd;s tkus okys _.k dks dgrs gS &  

 (A) Secured loan / lqjf{kr lk[k    

(B) Unsecured loan / vlqjf{kr lk[k    

 (C) Simple mortgage loan / lk/kkj.k fxjoh _.k    

 (D) None of these  / buesa ls dksbZ ugha  

 

(x)  Bank was setup to issue Notes, Regulate & Securing Monitoring Stability in the country is known as -    
 cSad uksVks dks tkjh djuk] fu;a=.k djuk ,oa ns'k dh eqnzk dks LFkkfir djus dk dk;Z djrk gS &  

 (A) SBI / ,l-ch-vkbZ   (B) World Bank  / fo'o cSad  

 (C) RBI / vkj-ch-vkbZ   (D) Commercial Bank / O;kikfjd cSad 
 

Part-B  (Hkkx&c) 

Short Answer type questions. Each question carries 2 marks (any 5)                   [2×5=10] 

y?kq mÙkjh; iz'uA izR;sd iz'u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½  
 
Q.1 Explain the scope of agriculture finance and its significance.   
 df̀"k for dk {ks= vkSj blds egRo dks le>kb;sA  

 

Q.2 Explain the Risk bearing ability with example in briefly.    
 Lka{ksi esa mnkgj.k lfgr tksf[ke ogu ;ksX;rk dk o.kZu dhft,A   

 

Q.3 Define cooperation and its meaning. 
 lgdkfjrk vkSj blds vFkZ dks ifjHkkf"kr dhft,A 

 

Q.4 Define 3 R of credit management and describe returns from the investment. 

 _.k izca/ku ds 3 R dks ifjHkkf"kr djs vkSj fuos'k ls izkIr okilh dk o.kZu dhft,A 

 

Q.5 Describe world bank. 
 fo'o cSad dk o.kZu dhft,A 

 

 
Q.6 Explain the Agriculture Finance Corporation. 
 Ñf"k foÙk fuxe dh O;k[;k dhft,A 

 

Part-C  (Hkkx&l) 
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Long Answer type question. Each question carries 5 marks (any six)         5x6=30 

nh?kZ mÙkjh; iz'uA lHkh iz'uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1 Define RRBs and describe their objective, functions, capital, management and  progress. 
 {ks=h; xzkeh.k cSad dks ifjHkkf"kr dhft, vkSj mlds mn~ns';] dk;ksZZa iwath] izca/ku vkSj izxfr dk o.kZu  dhft,A 

 

Q.2 Define NABARD and describe their function objective, organization and financial statement. 
ukckMZ dks ifjHkkf"kr djsa vkSj blds dk;ksZa] mn~ns';] laxBu rFkk foRrh; fooj.k dk o.kZu djsaA 

 

Q.3 Define repayment capacity and describe causes for the poor repayment capacity of Indian former and 

describe measures for strengthening the repayment capacity. 
_.k vnk;xh {kerk dks ifjHkkf"kr djsa rFkk Hkkjrh; fdlkuksa dh Lojkt iquHkZqxrku {kerk ds dkj.kksa dk o.kZUk dhft, rFkk 

iquHkZqxrku {kerk dks c<+kus ds mik;ksa dk o.kZu dhft,A 

 
Q.4 Classify the credit with example based on Liquidating and Approach.  

rjyrk rFkk nf̀"Vdks.k ds vk/kkj ij mnkgj.k lfgr lk[k dk oxhZdj.k dhft,a  

 

Q.5 Define commercial bank and describe nationalization of Banks.  
okf.kfT;d cSadksa dks ifjHkkf"kr djsa vkSj cSadksa ds jk"Vªh;dj.k dk o.kZu dhft,A 

 
Q.6 Describe Lead Bank Scheme and Land Development Bank.       

vxz.kh cSad ;kstuk vkSj Hkwfe fodkl cSad dk o.kZu dhft,A 

 

Q.7 Describe NAFED and NCDC. 
ukQsM rFkk ,u-lh-Mh-lh- dk o.kZu dhft,A 

 

Q.8 Describe principle and objective of cooperation and describe structure of cooperative institute.   
lgdkfjrk ds mn~ns'; vkSj fl)kar dk o.kZu dhft, rFkk lgdkjh laLFkkvksa dh lajpuk dk o.kZu dhft,A 

  
Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Third Semester Main Examination, Dec-2020 

Farm Machinery and Power [AGE521] 

Time: 3:00 Hrs                                                                       Max Marks : 50 

Note : All 3 sections are compulsory.  

Student should not write anything on question paper 

 

Part-A  (Hkkx&v) 

This section contains objective type questions. Each question carry 1 marks.  

bl oxZ esa oLrqfu"B izdkj ds iz’u gSaA izR;sd iz’u dk ,d vad fu/kkZfjr gSA 
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Q.1 Multiple choice Question / oLrqfu"B iz’u                       [1×10=10] 

 

(i)  Soil turn plough make furrow - 
 feêh iyV gy dqaM cukrk gS& 

 (A) V Size/ V vkdkj    (B) U Size/ U vkdkj 

 (C) L Size/ L vkdkj   (D) All of these / mijksDr lHkh 

 

(ii)  The engine operating temperature is - 
   batu dk vkWijsfVax rki gksrk gS& 

 (A) 50
0
C    (B) 70

0
C 

 (C) 100
0
C    (D) 98

0
C 

 
(iii)  The thermal efficiency of external combustion engine.  
 ckâ; ngu dh m"eh; n{krk gksrh gSA 

 (A) 15-20%    (B) 20-25% 

 (C) 35-40%    (D) 40-45%  
 

(iv)  Moisture % in rice crop at harvest time- 
 /kku dh dVkbZ ds le; mlesa ueh izfr’kr gksrk gS& 

 (A) 28%    (B) 22% 

 (C) 15%     (D) 20% 
 

(v)  The velocity required to operate wind mile is more than - 
   iou pDdh dks pykus ds fy, fdrus osx dh vko';drk gksxh &  

 (A) 5 km/h    (B) 10 km/h 

 (C) 5 miles/h     (D) 10 miles/h  

 

 

 

 

(vi)  Who is father of tillage- 
 Hkw&ifj"dj.k dk firk fdls dgk tkrk gS& 

  (A) G.B. Triplet / th-ch- fVªIysV  (B) Jethrotull / tsFkjksVqy  

  (C) Dokuchalev / Mksdwpso   (D) None of these / bues ls dksbZ ugha 

 

(vii) Four stroke engine are used in -  
 Qksj LVªksd batu mi;ksx gksrs gS& 

  (A) Cars / dkj    (B) Buses / cl esa  

  (C) Tractors / VªsDVjksa esa    (D) All of these / mijksDr lHkh 

  

(viii)  One horse power equals- 
,d gklZ ikoj cjkcj gksrk gS& 

 (A) 846 Watt / 846 okV    (B) 746 Watt/ 746 okV 

 (C) 664 Watt / 664 okV    (D) 764 Watt / 764 okV 
 

(ix)  Diesel engines have a compression ratio- 
 Mhty batu dk lEihM+u vuqikr gksrk gS& 

 (A) 5:1    (B) 14:1-21:1 

 (C) 11:1-14:1    (D) 9:1-11:1 
  

(x)  What is the rate of measuring power- 
 'kfDr dks ekius dh nj D;k gksrh gS& 

 (A) Kg m./second / fdyksxzke ehVj@lsdsaM 

 (B) Gram m./second / xzke ehVj@lsdsaM 
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 (C) Kg/second / fdyksxzke@lsdsaM 

  (D) Kg/m. second / fdyksxzke@ehVj lsdsaM 

 

 

Part-B (Hkkx&c) 

Short Answer type questions. Each question carries 2 marks (any 5)                  [2×5=10] 

y?kq mÙkjh; iz’uA izR;sd iz’u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½  
 

Q.1 Explain working of power thresher with the help of units diagram. 
  ikoj Fkzs’kj dh lfp= dk;Z iz.kkyh le>kb,A 

 

Q.2 Describe the benefits of farm mechanization.  
  iz{ks= ;a=hdj.k ds ykHkksa dk o.kZu dhft,A 

 
 Q.3 What is Lubricant? Give its advantage.  
  Lusgd D;k gS\ mlds ykHk crkb,A 

 Q.4 Write merit and demerit mechanical power & electrical power. 
  ;kaf=d ÅtkZ rFkk fo|qr ÅtkZ ds xq.k nks"k fyf[k,A 

 

 

 

Q.5 Write the objective of tillage. 
 Hkwifj"dj.k ds mís’; fyf[k,A 

 

Q.6 Difference between renewable energy and non renewable energy. 
 uohudj.kh; ÅtkZ ,oa vuohudj.kh; ÅtkZ ds chp varj crkb,A 

 

Part-C  (Hkkx&l) 

 

Long Answer type question. Each question carries 5 marks (any six)             [5×6=30] 

nh?kZ mÙkjh; iz’uA lHkh iz’uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1 Define sowing and write the classification of sowing methods. 
cqvkbZ dks ifjHkkf"kr djsa vkSj cqvkbZ i)fr;ksa dk oxhZdj.k dhft,A 

 
Q.2 What is winnowing? Write the methods of winnowing.     
 vkslkbZ D;k gS\ vkslkbZ dh fof/k;ka fyf[k,A 

 

Q.3 Classification of nozzle and describe the Hallocon Nozzle. 
 uksty dk oxhZdj.k dhft, rFkk gkyksdksu uksty dks le>kb,A 

 

Q.4 Short notes/ fVIi.kh fyf[k,& 

 (i) Blind hoeing/ va/kh xqMkbZ 

 (ii) What are sprayers and their use in agriculture 
 Lizs;j D;k gS vkSj —f"k esa muds mi;ksx fyf[k, 

 (iii) Explain crop harvesting and threshing / Qly dVkbZ vkSj xgkbZ le>kvksa 

 
Q.5 Write the comparison of four stroke & two stroke cycle engine.  
 Qksj LVªksd ,oa Vw LVªksd lkbfdy batu dh rqyuk dhft,A 
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Q.6 Defined tillage and classification their implements. 
 tqrkbZ dks ifjHkkf"kr dhft, vkSj mlds ;a=ksa dk oxhZdj.k dhft,A 

 

Q.7 Explain carburetor in engine and write their function. 
 batu esa dkcksZjsVj dks le>k,a ,oa mlds dk;Z fyf[k,A 

  

Q.8 Explain cooling system of engine and write about air cooling system in detailed. 
 batu ds 'khryu iz.kkyh dks le>kvksa vkSj ,;j dwfyax flLVe ds ckjs esa foLrr̀ fooj.k fyf[k,A 
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Time: 3:00 Hrs                                                                       Max Marks : 50 
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Part-A  (Hkkx&v) 

 

This section contains objective type questions. Each question carry 1 marks.  

bl oxZ esa oLrqfu"B izdkj ds iz’u gSaA izR;sd iz’u dk ,d vad fu/kkZfjr gSA 

 

Q.1 Multiple choice Question / oLrqfu"B iz’u             [1x10=10] 

 

(i)  Largest unit of memory- 
 cMh ;qfuV eseksjh gS& 

 (A) Kilobyte / fdyksckbV   (B) Byte/ ckbV 

 (C) Yotta byte / ;wVkckbV    (D) None of these/ buesa ls dksbZ ugha 

 

(ii)  DBMS stored - 

DBMS LVksjM j[krk gS& 

 (A) Data/ MsVk    (B) Information/ buQksjes'ku 

 (C) Data collection/ MsVk dysD'ku   (D) All of these/ lHkh 

 
(iii)  PPT prepared by- 
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 PPT ds }kjk cukbZ tkrh gS& 

 (A) Power present / ikoj iztsaV  

 (B) Point present/ ikbaV iztsaV 

 (C) Power point presentation / ikoj ikbaV iztsaVs'ku   

 (D) Excel/ ,Dly 

 

(iv)  Permanent memory - 
 LFkkbZ eseksjh& 

 (A) Hard disk    (B) RAM  

 (C)  ROM    (D) None 

 

 

 

 

(v)  C++ language is - 

C++ Hkk"kk gS& 

 (A) Pop
'
s    (B) OOP

'
S   

 (C) Pop & opp    (D) only pop
'
s 

 

(vi)  Computer output devices are- 
 dEI;qVj ds vkWmViqV fMokbl gS& 

 (A) O.S.    (B) Printer  

 (C) Windows     (D) None of these 
 

(vii)  JAVA is an- 
 tkok ,d Hkk"kk gS& 

 (A) Class & object based/ Dykl vkSj vksCtsDV 

 (B) OOP language / OOP ySaXost 

 (C) Programing language / izksxzkfeax ySaXost 

 (D) All of these / mijksDr lHkh 
 

(viiii)  Full form of C.P.U. - 

C.P.U. dk iwjk uke & 

 (A) Central Processing Unit  (B) Center Programming Unit 

 (C) Central Process Unint   (D) Centre Program Unit 

 

(ix) Which of the following is not a search engine -  
 buesa ls dkSu lpZ batu gS &  

 (A) Google    (B) Yahoo  

 (C) Baidu      (D) Wolfram Alpha 
  

(x)  What is the Hindi name of Computer -  
 dEI;qVj dk fgUnh uke D;k gS &  

 (A) x.kuk djus okyk   (B) lax.kd  

 (C) fglkc djus okyk    (D) ifjx.kd  
  

Part-B  (Hkkx&c) 

Short Answer type questions. Each question carries 2 marks (any 5)    [2x5=10] 
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y?kq mÙkjh; iz’uA izR;sd iz’u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½ 
 
Q.1 What is hard-disk? 
 gkMZ fMLd D;k gS\ 

 

Q.2 Explain file & folder. 
 Qkby vkSj QksYMj dks le>kb,A 

 

 

Q.3 Write unit of memory. 
 eseksjh dh bdkb;ksa dks le>kb,A 

 

Q.4 Introduction to JAVA. 

 JAVA ¼tkok½ dk ifjp; nhft,A 

 

Q.5 Write name of input and output devices.  
 buiqV vkSj vkmViqV fMokbl ds uke fyf[k,A 

 

Q.6 What is RAM? 

 RAM D;k gS\ 

 

 

Part-C  (Hkkx&l) 

Long Answer type question. Each question carries 5 marks.             [5x6=30] 

nh?kZ mÙkjh; iz’uA lHkh iz’uksa ds 5 vad fu/kkZfjr gSaA  

 

Q.1 Difference between C & C++.  

 C vkSj C++ esa chp varj fyf[k,A 

 
Q.2 Types of operating system.   

vksijsfVax flLVe ds izdkj crkb,A 

 

Q.3 What is software and its types.  
lk¶Vos;j D;k gS vkSj blds izdkj crkb;sA 
 

Q.4 What is virus? Explain its types. 
okbjl D;k gS\ blds izdkjks dk o.kZu dhft,A 

 

Q.5 Write computer types with diagram. 

 dEI;wVj types vkjs[k ds lkFk fyf[k,A 

 
Q.6 Explain crop calendars using IT tool. 

 IT midj.kks dk mi;ksx dj Qly dSysaMj dks le>kb,A 

 
Q.7 Write short note on:- 

 (i) WWW  

 (ii) Atribuites  

 (iii) Object  
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Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Third Semester Main Examination, Dec-2020 

Environmental Studies and Disaster Management [EGE521] 

Time: 3:00 Hrs                                                                       Max Marks : 50 

Note : All 3 sections are compulsory.  

Student should not write anything on question paper. 

 

Part-A  (Hkkx&v) 

This section contains objective type questions. Each question carry 1 marks.  

bl oxZ esa oLrqfu"B izdkj ds iz’u gSaA izR;sd iz’u dk ,d vad fu/kkZfjr gSA 

Q.1 Multiple choice Question / oLrqfu"B iz’u                  [1x10=10] 

 

(i)  The world environment day is celebrated on- 
 fo'o i;kZoj.k fnol euk;k tkrk gS& 

 (A) 5 June / 5 twu    (B) 5 July / 5 tqykbZ 

 (C) 5 September / 5 flrEcj   (D) 5 January / 5 tuojh 
 

(ii)  The most important indoor air pollution is -  
 lcls egRoiw.kZ ?kjsyw ok;q çnq"kd gS &  

 (A) SO    (B) CO 

 (C) NO    (D) Radon gas  
 

(iii)  Pyramid of energy is always- 
 ÅtkZ dk fijkfeM gksrk gS& 

 (A) Inverted / mYVk  (B) Upright / lh/kk 

 (C) Both / nksuksa  (D) None of these / buesa ls dksbZ ugha 
 

(iv)  The term “Ecosystem” was coined by- 
 bdks flLVe 'kCn fdlus fn;k Fkk\ 

 (A) E. Haeckel / fgdy    (B) W. Johnson / tkWulu 

 (C) A.G. Tansley / ,-th- VsUlys   (D) H. khun/ ,p- dqgu 

 
(v)  Which of the following is an example of external regional conservation -  
 fuEufyf[k esa ls dkSu lk ckg~;&{ks=h; laj{k.k mnkgj.k gS &  

 (A) Biosphere / tSo lajf{kr {ks=    (B) Gene bank / thu cSad 

 (C) Sanctuary / jk"Vªh; m|ku   (D) All of the above / mijksDr lHkh 
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(vi)  The type of succession occurring on a lire rock is called -  
 ,d pV~Vku ij gksus okys oa'kØe dks dgrs gS &   

 (A) Helosere / fgykslj     (B) Lithosere  / fyFkkslj  

 (C) Hydrosere   / gkbMªkslj     (D) None of these / bues ls dksbZ ugha  

 

(vii)  Which of the consumer in ecosystem -   
 fuEu esa ls bdksflLVe dk miHkksDrk gS &  

 (A) Green plant / gjs ikS/ks   (B) Bacteria / thok.kq 

 (C) All of these / mijksDr lHkh  (D) Rabbit / [kjxks'k 

 

(viii)  Which is not a causes of thermal pollution -    
 fuEu esa ls rkih; çnq"k.k dk dkj.k ugha gS &   

 (A) Thermal plant / m"ek la;a=   (B) Nuclear / ukfHkdh; la;a= 

 (C) Steel mils  / ykSg v;Ld dkj[kkus   (D) Solid waste / Bksl vif'k"V 

 

(ix)  Bhopal gas tragedy occurred due to leakage of- 
 Hkksiky xSl =klnh fdl xSl ds fjlus ls gqbZ Fkh\ 

 (A) MIC    (B) DDT 

 (C) SO     (D) CO 

 

(x) Khanha Kisli national Park is located in- 
dkUgk fdlyh jk"Vªh; m|ku fLFkr gSaA 

 (A) Jabalpur / tcyiqj  (B) Mandla / e.Myk 

 (C) Panna / iUuk   (D) Satna / lruk 

  

 

Part-B  (Hkkx&c) 

Short Answer type questions. Each question carries 2 marks (any 5)                   [2x5=10] 

y?kq mÙkjh; iz’uA izR;sd iz’u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½  
 
Q.1 Structure of Ecosystems.  
 ikfjfLFkfrdh ra= dh lajpukA 

 

Q.2 Global Warming.  
 Hkwe.Myh; Å"ehdj.kA 

 

Q.3 Forest conservation act.   
 i;kZoj.k laj{k.k vf/kfu;eA  

 

Q.4 Landslides.  
 Hkw&L[kyuA 

 

Q.5 Scope of environmental science.  
 i;kZoj.k foKku ds {ks=A  

 
Q.6 Write the human rights.  
 ekuokf/kdkj fyf[k,A  

 

Part-C  (Hkkx&l) 
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Long Answer type question. Each question carries 5 marks (any six)          [5x6=30] 

nh?kZ mÙkjh; iz’uA lHkh iz’uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1 What is disaster management?  Describe the natural disaster. 
vkink izcU/ku D;k gS\ izkdf̀rd vkink dks le>kb,A 

 

Q.2 What is environmental pollution? Describe different types of environmental pollution.   
i;kZoj.k iznw"k.k D;k gS\ i;kZoj.k iznw"k.k ds izdkjksa dks le>kb,A 

 

Q.3 What is biodiversity? Explain various diversities and concept of hotspots of biodiversity?    
tSo fofo/krk D;k gS\ fofHkUu fofo/krkvksa dks le>kb;s ,oa tSo fofo/krk ds rIr LFky dh O;k[;k dhft,A  

 

Q.4 What are Natural Resources?  Write short notes on renewable and non-renewable resources.  
izkdf̀rd lalk/ku D;k gSa\ uohuhdj.k rFkk vuohuhdj.k lalk/kuksa ij fVIi.kh fyf[k,A 

 
Q.5 Explain Produces, Consumers and Decomposers.   

mRiknd] miHkksDrk rFkk vi?kVd dh O;k[;k dhft,A  

 
Q.6 Different between food chain and food web.    

[kk| J̀a[kyk rFkk [kk| tky esa varj gSA  

 
Q.7 Define ecosystems and describe the concept of ecosystems.  
 ikfjfLFkfrdh dks ifjHkkf"kr dhft, RkFkk ikfjfLFkfrdh ra= dh vo/kkj.kk dk o.kZu dhft,A 

 
Q.8 Define the terms-  

 fuEu dks ifjHkkf"kr dhft, &  

(a) Nuclear disaster / ijek.kq vkink  

(b) Chemical disaster / jklk;fud vkink 

(c) Forest fire / taxy dh vkx  
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Part-A  (Hkkx&v) 

 

This section contains objective type questions. Each question carry 1 marks.  

bl oxZ esa oLrqfu"B izdkj ds iz'u gSaA izR;sd iz'u dk ,d vad fu/kkZfjr gSA 

 

Q.1 Multiple choice Question / oLrqfu"B iz'u                                  [1×10=10] 

 

(i)  The first artificial hybrid produced by - 
igyk df̀=e ladj dk mRiknu fd;k &  

 (A) Mandel / es.My  (B) Koelreute / dkyLVj 

 (C) Shull / lqy   (D) Thomas fairchild / Fkkel Qk;jpkbYM  
 

(ii)  The concept of center of origin was prosed by -  
 mRifRr dsUnz dh vo/kkj.kk nh xbZ gS &  

 (A) NI Vavilov / ,u vkbZ osfoyks (B) Vilmorin / foYeksfju 

 (C) Harlon / gjyksu  (D) Johansen / tksulu 

 
(iii)  Tift-23 are the wild related -  
 fV¶V 23 taxyh iztkrh gS &  

 (A) Maize / eDdk   (B) Sorghum / Tokj  

(C) Barley/ tkS   (D) Bajra / cktjk  

 

(iv)  Colchicine is generally used for -  
dksyf;flu dk lkekU;r% mi;ksx fd;k tkrk gS &  

 (A)  Heterosis / ldj vkst    

(B) Mutaion / mRifjorZu  

 (C)  Chromosome dubling/ xq.klw= f}xq.ku  

(D) All above / mijksDr lHkh 

 
(v)  Which is the most suitable method to maintain the genetic - 

 Purity dkSu lh vuqokaf'kd 'kq)rk izca/ku dh lcls vPNh fof/k gS &  

 (A) Pure line / 'kq) oa'kØe   

 (B) Back cross / izrhd ladj.k  

 (C) Test cross / ijh{k.k ladj.k   

 (D) Mass selection / lewg p;u  

 

 

(vi)  Production of male and female gamete is known as -  
uj o eknk ;qXed dk mRiknu tkuk tkrk gS &  

 (A) Sporogenesis / chtk.kq tuu   (B) Apomireis / vlaxtuu 

 (C) Gametogenesis / ;qXed tuu  (D) All above / mijksDr lHkh 

 

(vii) Origin of soyabean -  
 lks;kchu dk mRifRr LFkku gS &  

 (A) Chine / phu    (B) India / Hkkjr 

 (C) Africa / vQzhdk   (D) Mexico / esfDldks 
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(viii)  Cereals & millets are example of which crop species is a example - 
 vukt vkSj feysV~l dkSu lh Qly iztkfr dk mnkgj.k gS &  

 (A) Self pollinated / Loijkfxr   

(B) Cross pollinated / ijijkfxr 

 (C) Often cross pollinated / cgq/kk ijkfxr  

 (D) None of these / buesa ls dksbZ ugha 
  

(ix)  Staminate & pistillate flowers occurs in the same plant is called -  
tc uj vkSj eknk Qqy ,d gh ikS/kksa esa ik;s tkrs gS rks mls dgrs gS &  

 (A) Diocious / ,d fyaxkJ;h (B) Dichogamy / fHkUudky iDork 

 (C) Protogyny  / fL=iqoZrk  (D) Monoecious / f}fyaxkJ;h 
  

(x)  The process of removal to another (male) from flower is called as -  
 iq"i ls ijkxdk"ks@¼uj½ Hkkx dks gVkus dh fØ;k dgykrh gS &   

 (A) Isolation / iF̀kDdj.k  (B) Emas culation / foiqlhdj.k 

 (C) Conservation / laj{k.k  (D) Self incompatibly  / Lovfu"ksP;r  

 

Part-B  (Hkkx&c) 

Short Answer type questions. Each question carries 2 marks (any 5)                   [2×5=10] 

y?kq mÙkjh; iz'uA izR;sd iz'u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½  
 
Q.1 Define the self-incompatibility. 
 Lovfu"ksP;rk dks ifjHkkf"kr dhft,A 

 

Q.2 Explain the self-pollination and cross pollination with examples. 
 Loijkx.k vkSj ijijkx.k dks mnkgj.k lfgr le>kb,A 

 

Q.3 What is the domestication and write their important.  
 ikni xzkE;u D;k gS vkSj mlds egRo fyf[k,A 

 

Q.4 Define the progeny test 
 larfr ijh{k.k dks ifjHkkf"kr dhft,A 

 

 

 

Q.5 Explain the apomixes and write their types. 
 vlaxtuu dks le>kb, vkSj blds izdkj fyf[k,A 

 

Q.6 Define the cleistogamy and chasmogamy with examples. 
 DyhLVksxseh vkSj dsleksxseh dks mnkgj.k lfgr ifjHkkf"kr dhft,A 

 

Part-C  (Hkkx&l) 

 

Long Answer type question. Each question carries 5 marks (any six)              [5×6=30] 

nh?kZ mÙkjh; iz'uA lHkh iz'uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1 Write the major breeding objectives in detail. 
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 ikni iztuu ds mÌs';ksa dks foLrr̀ dhft,A 

 
Q.2 What is germplasm? Write its type. 
 tuu nzO; D;k gS\ blds izdkj fyf[k,A 

 

Q.3 What is the emasculation and describe the methods of emasculation. 
foiqalu D;k gS rFkk foiqalu dh fof/k;ksa dks le>kb,A 

 

Q.4 Write the detail of mass selection method and their merits. 
leqg p;u fof/k dks foLrr̀ ls fyf[k, vkSj mlds ykHk Hkh fyf[k,A 

 

Q.5 What is plant introduction and write their types? 
ikni iqu% LFkkiu D;k gS vkSj blds izdkjksa dks fyf[k,A 

 

Q.6 Describe in detail of hybridization technique.        
ladj.k fof/k dks foLrkj ls le>kb,A 

 

Q.7 Describe the different plant breeding method of cross pollinated crops.     
ijijkfxr Qlyks esa fofHkUu ikni iztuu fof/k;kas dk o.kZu dhft,A 

 

Q.8 Write the process of pedigree method with merit and demerit. 
oa'kkoyh fof/k ds ckjs esa xq.k vkSj nks"k lfgr fyf[k,A 
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Part-A  (Hkkx&v) 

This section contains objective type questions. Each question carry 1 marks.  

bl oxZ esa oLrqfu"B izdkj ds iz’u gSaA izR;sd iz’u dk ,d vad fu/kkZfjr gSA 

Q.1 Multiple choice Question / oLrqfu"B iz’u                               1x10=10 

(i)  Whiptail is a physiological disorder of - 
 fOgiVsy ,d nSfgd fodkj gS& 

 (A) Potato / vkyq    (B) Cauliflowers / QwyxksHkh 

 (C) Tomato / VekVj   (D) Chilli / fepZ 

 

(ii)  The deficiency of vitamin-A caused by- 
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 foVkfeu &A dh deh ls gksus okyk jksx 

 (A) Pneumonia/ U;qeksfu;k    (B) Beri- Beri / csjh & csjh 
 (C) Night blindness / jrkSa/kh   (D) All of these / mijksDr lHkh 

 
(iii)  Family of okra is- 
 fHk.Mh dk ifjokj gS& 

 (A)  Cucurbitaceae / dqdqjfcVslh  (B) Solanaceae / lksysuslh 

 (C)  Cruciferae / ØwlhQsjh   (D) Malvaceae / ekyoslh 

 

(iv)  Chromosome numbers of potato is- 
 vkyw esa xq.klw= la[;k gS& 

 (A) 18     (B) 24 

 (C) 20     (D) 48 

 
(v)  Punjab lal is a variety of - 
 iatkc yky ,d fdLe gS& 

 (A)  Tomato / VekVj   (B) Chilli / fepZ 

 (C)  Brinjal / cSaxu   (D) Potato / vkyq 

  

 

 

(vi)  Seed rate of chilli- 
 fepZ dh cht nj gS& 

 (A) 1-1.5 kg/hac  (B) 3-4 kg/ hac 

 (C) 4-5kg/hac  (D) 5-6 kg/ hac 

 

(vii)  Kufri Jyoti is a variety of - 
dqQjh T;ksfr ,d fdLe gS& 

 (A) Potato / vkyq   (B) Chilli / fepZ 

 (C) Tomato / VekVj  (D) Brinjal / cSaxu  

 

(viii)  The propagation of cardamom is done by - 
gjh byk;ph dk izo/kZu ds }kjk fd;k tkrk gS& 

 (A) Seed / cht   (B) Bulb / cYc 

 (C) Cutting / d̀ru  (D) Air Layering / xqVh }kjk 

 

(ix) Which spice is known as “Queen of Spices”- 
 fuEu esa ls fdl elkys dks Þelkykas dh jkuhß dgk tkrk gS& 

 (A) Black Pepper / dkyh fepZ (B) Turmeric / gYnh 

 (C) Cinnamon / nky phuh  (D) Cardamom / gjh byk;ph 

 

 (x)  Seed rate of turmeric is kg/ha-  
 gYnh dh cht nj fdxzk@gsDVsvj gS& 

 (A) 1200-1500  (B) 2500-2700 

 (C) 3000-3500  (D) 1500-1800 
  

Part-B  (Hkkx&c) 

Short Answer type questions. Each question carries 2 marks (any 5)         2x5=10 

y?kq mÙkjh; iz’uA izR;sd iz’u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½  

Q.1 What is TPS technique in potato? Write in brief.   
 vkyw esa lR; chp rduhd dks la{ksi esa le>kb,A 
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Q.2 Write the importance of vegetable and spices in human nutrition.  
 ekuo iks"k.k esa lfCt;ksa rFkk elkyksa dk egRo le>kb,A 

 

Q.3    Write the name of physiological disorders in cauliflower. 
 QwyxksHkh ds fQft;ksykWftdy fMlvkWMZj ds uke fyf[k,A 

 

Q.4 Write the control measures for viral disease.   
 fo"kk.kq tfur chekjh ds fu;a=.k ds mik; fyf[k,A 

 

Q.5 Write the botanical name and family of any five vegetable crops. 
 fdUgh ikap lfCt;ksa okyh Qlyks ds cksVuhdy uke vkSj dqy fyf[k,A 

 

 

Q.6 Describe about damping off disease in vegetables at nursery stage.  
 lfCt;ksa dh ulZjh voLFkk esa gksus okyh vknZz xyu chekjh dks le>kb,A 

Part-C  (Hkkx&l) 

Long Answer type question. Each question carries 5 marks (any six)                 5x6=30 

nh?kZ mÙkjh; iz’uA lHkh iz’uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1 Write down the cultivation practice of garden pea on such points-       
eVj dh mRiknu rduhd dks fuEu fcUnqvksa ds vk/kkj ij le>kb,& 

a) Botanical Description / okuLifrd fooj.k 

b) Varieties / fdLesa 

c) Seed Sowing and Mannure Fertilizer / cht cqvkbZ rFkk [kkn moZjd 

d) Plant protection/ Qly lwj{kk 
 

Q.2 Write down the cultivation practice of tomato on the basis of-       
VekVj dh [ksrh dks fuEu fcUnqvksa ds vk/kkj ij le>kb,& 

a) Botanical Description / okuLifrd fooj.k 

b) Nursery Preparation/ IkkS/k yxkuk  

c) Important Varieties / egRoiw.kZ fdLesa 

d) Important Disease and its Control/ egRoiw.kZ chekfj;ka o fu;a=.k 

 

Q.3 Write the cultivation of chilli with special reference to - 
fepZ dh [ksrh dks fuEu fcanqvksa ds vk/kkj ij le>kb,& 

(i) Nutrients / iks"kd rRo dh vko';drk (ii) Nursery preparation / ikS/k yxkuk 

(iii) Important varieties / izeq[k fdLesa (iv) Plant protection / Qly lqj{kk 

 

Q.4 Write down the rate of growth regulators in vegetable production. 
lCth mRiknu esa ikni of̀) fu;kedksa dh Hkwfedk le>kb,A 

 

Q.5 Write down the psychological disorder of potato in detail.    
vkyw ds izeq[k nSfgd fodkjksa dks foLrkj ls le>kb;sA 

 

Q.6 Write the four important varieties of each crop with its character.  

 fuEu Qlyksa dh pkj egRoiw.kZ fdLeksa ds uke fyf[k, rFkk mudh fo’ks"krkvksa dks la{ksi esa  fyf[k,& 

(i) Cardamom / gjh byk;ph   (ii) Black Pepper / dkyh fepZ 

(iii) Ginger / vnjd    (iv) Turmeric / gYnh 
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Q.7 Write the botanical name, family, origin and chromosome numbers of each crop. 
fuEu Qlyksa ds okUkLifrd uke] dqy] mRifRr LFkku rFkk xq.klq= Øekad fyf[k,A  

(i) Cauliflower/ QwyxksHkh      (ii) Onion/ I;kt 

(iii) Okra/ fHk.Mh     (iv) Chilli / fepZ 

 

Q.8 Write the full package practices for cultivation of brinjal. 
 cSaxu dh mUur [ksrh dks foLrr̀ le>kb,A 

Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Third Semester Main Examination, Dec-2020 

Livestock and Poultry Management [LPM521] 

Time: 3:00 Hrs                                                                       Max Marks : 50 

Note : All 3 sections are compulsory.   

Student should not write anything on question paper 

 

Part-A  (Hkkx&v) 

This section contains objective type questions. Each question carry 1 marks.  

bl oxZ esa oLrqfu"B izdkj ds iz'u gSaA izR;sd iz'u dk ,d vad fu/kkZfjr gSA 

Q.1 Multiple choice Question / oLrqfu"B iz'u             [1x10=10] 

(i)  Where is the largest donkey fair in India- 
 Hkkjr esa x/kks dk lcls cMk esyk dgka yxrk gS& 

 (A) Sonpur (Bihar) / lksuiqj ¼fcgkj½   

 (B) Jodhpur ( Rajasthan) / tks/kiqj ¼jktLFkku½   

 (C) Indore ( Madhya Pradesh) / bUnkSj ¼e/; izns'k½    

 (D) Lucknow ( Uttar Pradesh) / y[kuÅ ¼mRRkj izns'k½   

 

(ii)  Most beautiful dairy cow breeds- 
Xkk; dh lcls [kwclwjr Ms;jh uLy dkSu lh gSa& 

 (A)  Jersey / tlhZ    (B) brown Swiss / czkmu Lohl  

 (C)  Ayrshire/ vk;j’kk;j   (D) Sahiwal / lkfgoky 

 

(iii)  Which cow is same to gir cow- 
 dkSu lh xk; fxj xk; ds leku fn[kkbZ nsrh gS& 

 (A) Deoni / nsouh    (B) Ongole / vaxksy 

 (C) White Sindhi/ lQsn fla/kh   (D) Sindhi / fla/kh 

 
(iv)  Which is the dual purpose breed of cow-   
 xk; dh f}dkth uLy dkSu&lh gS& 

 (A) Sahiwal / lkfgoky   (B) Gir / fxj 

 (C) Nagori  / ukxksjh   (D) Kankrej  / dkadjst 
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(v)  Highest cattle found in which country- 
 lcls T;knk i'kq fdl ns'k esa ik;s tkrs gSa& 

 (A) America / vesfjdk   (B) India / Hkkjr 

 (C) Japan / tkiku   (D) Australia / vkLVªsfy;k 

 

 

(vi)  In which year cattle insurance scheme started? 
 i'kq chek Ldhe dh 'kq:vkr fdl o"kZ gqbZ\  

 (A) 1972    (B) 1974 

 (C) 1976    (D) 1978 

 

(vii)  Toda is a breed of- 
 VksMk ,d iztkfr gS& 

 (A) Cow / Xkk;    (B) Buffalo / HkSal 

 (C) Goat / cdjh    (D) Sheep / HksM 

 

(viii)  The gestation period of buffalo is____ 
 HkSal dk xHkZdky fdrus fnuksa dk gksrk gS& 

 (A) 310 Days / 310 fnu    (B) 282 Days / 282 fnu 

 (C) 295 Days / 295 fnu    (D) 250 Days / 250 fnu 

 

(ix) Which buffalo breed is known as elitchpuri- 
 bfypiqjh uke ls fdl HkSal dh uLy dks tkuk tkrk gS& 

 (A) Surti / lwjrh     (B) Nagpuri / ukxiqjh 

 (C) Nili / fuyh    (D) Mehsana / esglkuk 

 

(x)  Which goat is known as village goat- 
 fdl cdjh dks xzkeh.k cdjh ds uke ls tkuk tkrk gS& 

 (A) Jamunapuri / tequkikjh   (B) Barbari / cjcjh  

 (C) Kashmiri / dk’kehjh     (D) Black Bengal / dkyh caxky 
 

 

Part-B  (Hkkx&c) 

Short Answer type questions. Each question carries 2 marks (any 5)    [2x5=10] 

y?kq mÙkjh; iz'uA izR;sd iz'u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½  
 
Q.1 What is colostrums? 
 [khl D;k gS\ 

 

Q.2 Definition of animal husbandry. 
 i'kqikyu dh ifjHkk"kk fyf[k,A 

 

Q.3 What is Heterosis? 
 ladj vkst D;k gS\ 

 
Q.4 What is Silage? 
 lkbyst D;k gSa\ 

 

Q.5 Write the management of milch animals 
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 nq/kk: i'kqvksa dk izca/ku fyf[k,A 

 

Q.6 What is fertilization? 
 fu"kspu D;k gS\ 

 

Part-C  (Hkkx&l) 

 

Long Answer type question. Each question carries 5 marks (any six)    [5x6=30] 

nh?kZ mÙkjh; iz'uA lHkh iz'uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1 Write the system of breeding in animal. 
i'kqvksa esa iztuu iz.kkyh  dks fyf[k,A 

 

Q.2 Write the role of livestock in the national economy. 
jk"Vªh; vFkZO;oLFkk esa i'kq/ku dh Hkqfedk dks fyf[k,A 

 

Q.3 What is animal disease and write the common symptoms of sick animals? 
i'kq jksx D;k gS vkSj chekj i'kqvksa ds lkekU; y{k.k fyf[k,A 

 
Q.4 Write the any four breeds of cow, origin place, milk production and its characters.   

xk; dh fdUgha pkj uLyksa ds mRifÙk LFkku] nqX/k mRiknu ,oa mudh fo’ks"krk,sa fyf[k,A 

 

Q.5 Write in detail about care and management of claves and heifers.    
uotkr cNM+s ,oa cfN;ksa dk izca/ku dSls fd;k tkrk gS\ foLrkjiwoZd fyf[k,A  

 

Q.6 Write the name and functions of any four equipment used in veterinary.    
i'kq fpfdRlk esa mi;ksx vkus okys fdUgha pkj ;a=ksa ds uke ,oa muds mi;ksx fyf[k,A 

 

Q.7 Write the composition of animal body and write the functions of water in animal. 
i'kq 'kjhj dh lajpuk fy[ks vkSj i'kq esa ikuh ds dk;ksZ dks fyf[k,A 
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Part-A  (Hkkx&v) 

 

This section contains objective type questions. Each question carry 1 marks.  

bl oxZ esa oLrqfu"B izdkj ds iz’u gSaA izR;sd iz’u dk ,d vad fu/kkZfjr gSA 

 

Q.1 Multiple choice Question / oLrqfu"B iz’u                 1x10=10 

 

(i)  When two dice are tossed then sample space will be -  
tc nks ikls ,d lkFk mNkys tk;s rc lsEiy  Lisl gksxk & 

 (A)  36  (B) 30  (C)  6  (D) 0 

 

(ii)  Relation between Karl Pearson’s β and γ coefficients - 

 dkyZ fi;lZu ds β o γ xq.kkadks esa lEcU/k gS& 

 (A)      √    (B) √   =     

 (C) )          (D) √     √   
 

(iii)  Which is true relation –  
buesa ls dkSu&lk lEcU/k LkR; gS &  

 (A) (Standard deviation)
2
 = Variance / ¼ekud fopyu½

2
 = izlj.k 

 (B) (Variance)
2
 = Standard deviation / ¼izlj.k½

2
 = ekud fopyu 

 (C) Variance = Standard deviation / izlj.k = ekud fopyu  

         (D) None of them / buesa ls dksbZ ugh 

 

(iv)  Relation between mean deviation and standard deviation -   
ek/; fopyu rFkk ekud opyu ds e/; lEcU/k gS & 

 (A) S.D. > Mean deviation / ekud fopyu > ek/; fopyu   

 (B) Mean deviation = S.D. / ek/; fopyu ¾ ekud fopyu 

 (C) S.D. < Mean deviation / ekud fopyu < ek/; fopyu   

 (D) None of these/ buesa ls dksbZ ugh 

 

 

(v)  When a coin and a die are tossed together then sample space –  
tc ,d flDdk rFkk iklk ,d lkFk mNkys tk;s rc  LksEiy Lisl gksxk & 

 (A) 12 (B) 6  (C) 2  (D) None of these 

 

(vi)  Formula of mean deviation –  
ek/; fopyu dk lw= gS &  

 (A)     
 

 
  |   |  (B)     

 

  
  |   | 

 (C)     
 

√ 
  |   |  (D)       |   | 

 

(vii)  The Karl Pearson’s coefficient of correlation r - 

 dkyZ fi;lZu lglEcU/k xq.kkad r & 

 (A) Lies between -1 and +1 / -1 ls +1 ds chp gksxk  

 (B) Less than 1 / 1 ls NksVk gksxk 

 (C) Greater than 1  / 1 ls cM+k gksxk   

 (D) 0 
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(viii)   The equation of regression line of Y on X is - 

 Y ls X ij izfrxeu dh js[kk dk lehdj.k gS & 

 (A) Y-My = r ( σy / σx ) (X- Mx) (B) X – Mx = r ( σx / σy ) (Y- My)  

 (C) Y- My = X – Mx  (D) None of these/ buesa ls dksbZ ugh 

 

(ix)  A bag contains 5 white and 12 black balls. The probability that a white ball  

is drawn from the bag is -  
 ,d FkSys esa 5 lQsn o 12 dkyh xsans gS blesa ls lQsn xsan fudkyus dh izkf;drk D;k gksxh &  

 (A) 5/17 (B) 5/12  (C) 12/17  (D) 0 

 

(x)  The value of P(ϕ) is-  

 P(ϕ) dk eku gS & 

 (A) 1       

 (B) 0   

 (C) Greater than 0 but less than 1 / 0 ls cM+k ijUrq 1 ls NksVk  

 (D) None / dksbZ ugh 
                                  

Part-B  ( ) 

 

Short Answer type questions. Each question carries 2 marks (any 5)           

y?kq mÙkjh; iz’uA izR;sd iz’u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½  
 

Q.1 Write characteristic of Binomial Distribution. (Any 2)   
 f}in izes; ds dksbZ nks xq.k fyf[k,A 

 

Q.2 Define mean, mode and median.  
 lekarj ek/;] ekf/;dk o cgqyd dks le>kb,A 

 

Q.3 Define correlation and types of correlation. 
 lglEcU/k dks le>kb, rFkk blds izdkj fyf[k,A 

 

Q.4 Define Descreat Random variable.    
 vlrr~ ;knf̀PNd pj dks le>kb,A 

 

Q.5 Find the probability of throwing on even number with a die.  
 fdlh ikls dks Qsadus ij le la[;k vkus dh izkf;drk Kkr dhft, 

 

Q.6 Write any two application of χ
2
.  

 χ
2 
ds nks vuqiz;ksx fyf[k,A 

 

Part-C  ( ) 
 

Long Answer type question. Each question carries 5 marks (any six)   
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Q.1 Find the covariance of the following data: 

 (1, 4), (2, 2) , (3, 4), (4, 8) , (5, 9), (6, 12)  
 fn, x, vkadMksa ds fy, lgizlj.k Kkr dhft,& 

 (1, 4), (2, 2) , (3, 4), (4, 8) , (5, 9), (6, 12) 

 

Q.2 Find a binomial distribution for the following data: 
 fn, x, vkadM+ks ds fy, f}in izlkj Kkr dhft,& 

  
X: 0 1 2 3 

Y: 28 62 10 04 
  

Q.3 Find the coefficient of correlation from the following data-   
fn, x, vkadM+ks ls lglEcU/k xq.kkad Kkr dhft,& 

 

X: 1 2 3 4 5 

Y: 2 5 3 8 7 
 

Q.4 Define line of Regretion and write formula of line regretion of x on y and line of  regretion of y 

on x.      

izfrxeu dh js[kk dks le>kb, rFkk js[kk x dk y ij vkSj js[kk y dk js[kk x ij izfrxeu  fyf[k,A 

 

Q.5 Calculate Karl Pearson coefficient of correlation between age and weight of the children.   

  

Age(Year) 1 2 3 4 5 

Weight(Kg) 3 4 6 7 12 

     
fn, x, vkadM+ks ls vk;q o otu ¼Hkkj½ ds e/; dkyZ fi;lZu lglEcU/k xq.kkad Kkr dhft,& 

 vk;q 

¼lky½ 
1 2 3 4 5 

Hkkj ¼fdxzk½ 3 4 6 7 12 

 
Q.6 Find the mean and median of the following- 

fn, x, vkadM+ks ds fy, ek/; o ekf/;dk Kkr dhft,& 

 

X: 2 4 6 8 10 

Y: 3 2 5 7 9 

 

Q.7 From the following table find rank correlation- 

Persons: A B C D E F 

Rank in maths: 9 10 6 5 7 3 

Rank in physics: 1 2 3 4 5 6 

 

  fn, x, vkadM+ks ds fy, jSad lglEcU/k Kkr djks& 

 O;fDr%  …………………..          A B C D E F 
xf.kr esa jSad% 9 10 6 5 7 3 
HkkSfrdh esa jSad%   1 2 3 4 5 6 
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Q.8 If 3% of electric bulb’s manufactured by a company are defective find the  probability that 

in a sample of bulbs exactly 2 bulb’s are defective.   

,d dEiuh }kjk fufeZr 3% fo|qr cYc [kjkc gS rc izkf;drk Kkr djks tcfd dqy cYc 100 gS 2 [kjkc cYcksa dh 

la[;k Hkh Kkr dhft,A 

  

 

  
 
 

 
 

 
  

 


